e —

Budiiect : ADod C
soel e ip (pr ool Tolislol s B UL

Q&»/M‘mﬁ . A @(m%f

/I/(j/u'%ﬂ/ AUowsto Vg, 4/@(/,@» & MUOJMW

o Ohaddoing,
. d

b‘lﬂn/\vé
Q.Q ")




U/>LD§(J~'C‘ N(j’ faj)ﬁ(b%

(ol 09 (f J(.? ( g_q

oz 03 geld LWU/QQ




| ’ (
( ,rlc{\ig :/)fl’l

St b J et Matt

Q. Find the highest common factor (HCF) by prime factorisation. One has
been done for you:-

(a) 44,28 y (b) 45,75
44=_2 x2 x1l 45 =
28= 2x2x7 5=
HCF=2x2=4 HCF =
(c) 22,44 (d) 75,25
2= 75 =
44 = 25=
HCF = HCF =
(e) 63,36 (f) 86,64
63 = =
36= =
HCF = HCF =

(g) 36,18 (h) 48,30
36= =

18 = =

HCF = HCF =

(i) 150,225 (j) 24,180

150 = 24 =

225 = 180 =

HCF = HCF =
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Q. Fill the following factor trees:-
28 36
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